Geometry 4.1-4.4 Triangle Congruence Quiz Review

Show all work for full credit:

1. Solve for x
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3. Solve for x

4. Classify the triangle by the angle AND by its side:
Angles: right, acute, obtuse
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3b) find x:
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5. State if the two triangles are congruent. If they are, 6. Find x:
state how you know:
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6b) Find measure of angle 2:
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7. Fill in the spaces with the appropriate statements or reasons:

Given: C is the midpoint of BE, 2B=£E, and
AB=DE
A : D
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Show all work for full credit:
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5. State if the two triangles are congruent. If they are,
state how you know
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7. Fill in the spaces with the appropriate statements or reasons:

Given: C is the midpoint of BE, £B=£E, and
AB=DE
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